Roll No

334

Time allowed : 3 hours Maximum marks : 100

Total number of questions : 7

NOTE :

1.

2.

Total number of printed pages : 7
1. Answer FIVE questions including Question No.1 which is compulsory.
All working notes should be shown distinctly.

2. Tables showing the present value of Re.1 and the present value of an annuity
of Re.1 for 15 years are annexed.

Comment on any four of the following :

(i) Investment, financing and dividend decisions are inter-related.

(ii
(ifi

(iv

(v

(a)

Total risk is the risk associated with combined leverage.

The depository system functions very much like the banking system.

Stock options are for speculators.

Inspite of many advantages, the stable dividend policy suffers from certain limitations.

(5 marks each)

The turnover of Zenith Ltd. is Rs.100 lakh of which 72% is on credit. Debtors are
allowed one month to clear off the dues. A factoring company is willing to advance
80% of the bills raised on credit for a fee of 1% a month plus a commission of 5%
on the total amount of debts. Zenith Ltd. as a result of this arrangement is likely
to save Rs.48,000 annually in management costs and avoid bad debts at 1% on the
credit sales.

A bank has come forward to make an advance equal to 80% of the debts at an
annual interest rate of 15%. However, its processing fee will be at 1% on the
debts. Would you accept factoring or the offer from the bank ?

(8 marks)

An Indian telecom company had approached Punjab National Bank for forward
contract of £5,00,000 delivery on 31t May, 2008. The bank had quoted a rate
of Rs.61.60/£ for the purchase of pound sterling from the customer. But on
31st May, 2008, the customer informed the bank that it was not able to deliver the
pound sterling as anticipated receivable from London has not materialised and
requested the bank to extend the contract for delivery by 31t July, 2008.
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The following are the market quotes available on 31st May, 2008 :

Spot (Rs./£) 62.60/65
1-month forward premium 20/25
2-month forward premium 42/46
3-month forward premium 62/68

Flat charges for cancellation of forward contract is Rs.500.
You are required to find out the extension charges payable by the telecom company.
(6 marks)

(c) Based on the credit rating of the bonds, Rakshit has decided to apply the following
discount rates for valuing bonds :

Credit Rating Discount Rate

AAA 364-day T-bill rate + 3% spread
AA AAA + 2% spread

A AAA + 3% spread

He is considering to invest in a AA rated, Rs.1,000 face value bond currently
selling at Rs.1,025.86. The bond has five years to maturity and the coupon rate
on the bond is 15% per annum payable annually. The next interest payment is
due one year from today and the bond is redeemable at par. (Assume the 364-day
T-bill rate to be 9%.)

You are required to —
(i) Calculate the intrinsic value of the bond for Rakshit. Should he invest in the
bond ?
(ii) Calculate the current yield (CY) and the yield to maturity (YTM) of the bond.
(6 marks)

3. Distinguish between any four of the following :
(i) ‘Commodity futures’ and ‘financial futures’.
(ii) ‘Factoring’ and ‘securitisation’.
(iii) ‘Bilateral netting’ and ‘multilateral netting’.
(iv) “Treasury management’ and ‘financial management’.

(v) ‘Current account’ and ‘capital account’ in balance of payment.
(5 marks each)
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Three Star Co. is to decide between debt funding and equity funding for its expansion
programme. Its current position is as under :

Rs.
5% Debt 4,00,000
Equity capital (Rs.10/share) 10,00,000
Surplus 6,00,000
Total capitalisation 20,00,000
Sales 60,00,000
Less : Costs 53,80,000
Profit before interest and taxes (PBIT) 6,20,000
Less : Interest 20,000
Profit before taxes (PBT) 6,00,000
Less : Income-tax @ 33.99% 2,083,940
Profit after tax (PAT) 3,96,060

The expansion programme is estimated to cost Rs.10,00,000. If it is financed
through debt, the rate of interest of new debt will be 7%. If the expansion
programme is financed through fresh equity shares, the new shares can be sold
netting Rs.25/share. The expansion will generate additional sales of Rs.3,00,000
with after tax return of 5%. If the company is to follow a policy of maximising
the market value of its shares, which form of financing should it choose and why ?
(Price-earnings ratio is given to be 15.)

(15 marks)

Dhanpat, an investor, is seeking the price to pay for a security, whose standard
deviation is 5%. The correlation coefficient for the security with the market is
0.75 and the market standard deviation is 4%. The return from risk-free securities
is 6% and from the market portfolio is 11%. Dhanpat knows that only by calculating
the required rate of return, he can determine the price to pay for the security.
What is the required rate of return on the security ?

(5 marks)
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5. (a) Zarina Ltd. sells goods on a gross profit of 25%. It takes depreciation as a part
of cost of production. Further information available is as under :

Particulars Annual Figures
(Rs. in "000)
Sales (2 months credit) 1,800
Material consumption (one month credit) 450
Wages (Lag in payment - one month) 360
Cash manufacturing expenses (Lag in payment - one month) 480
Administrative expenses (Lag in payment - one month) 120
Sales promotion expenses (Quarterly paid in advance) 60
Tax payable in four instalments of which one lies in next year 150

The company maintains a month’s stock each of raw material and finished goods.
It also keeps Rs.1,00,000 in cash.

You are required to assess the working capital requirement from the above data.

(15 marks)

(b) Describe the features of ‘index futures’. How are interest rate futures settled ?
(5 marks)

6. Akshay Machines Ltd. currently manufactures 10,000 units annually on a machine
which has book value of Rs.60,000 (it was purchased for Rs.1,20,000 six years ago).
This machine is not fully depreciated for tax purposes. The manufacturing cost per
unit is as under :

Rs.
Direct labour and material 24
Variable overheads 24
Fixed overheads 16

It is expected that old machine can be used for indefinite period after suitable repairs
at estimated cost of Rs.40,000 per annum. On the other hand, Modern Machine Tools
offers a machine with latest technology at Rs.3,00,000 after trading off old machine
for Rs.30,000. The new machine is expected to last for 10 years at the end of which
its salvage value will be Rs.20,000. However, the old machine can be sold for Rs.40,000
in open market. The projected cost per unit on the new machine will be as under :

Rs.
Direct labour and material 14
Variable overheads 24
Fixed overheads 20
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The fixed overheads are allocated from other departments plus depreciation on machinery.
The cost of old and new machinery will be depreciated in 10 years for tax purposes and
the tax rate will be 30%. The minimum rate of return is expected to be 10% and the
annual production will stay at 10,000 units. Ignoring capital gains, advise whether
new machine should be installed or not.

(20 marks)

7. Write notes on any four of the following :
(i) Vertical capital structure
(ii) Exchange rate forecasting
(iii) Working capital and dividend policy
(iv) Semi-strong form of market efficiency
(v) Bridge loans.

(5 marks each)
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